H & 0l & AHS B Ml A

A 2 dE
B AxES 250lzAl
o 23toisdls 243 EEREE)
SA - ZE . BR(8) - HRAR - BES of v e HIDE2
=3teld g 2,99%,258 3,141,359 146,101
Al 55,000
- 2,940,258
AL =2 20 A 1,091,172 1,103,004 11,832
Al 55,000
- 1,036,172
Sz s 2dst 1,001,172 1,103,004 A11,832
Al 55,000
T 1,086,172
JIE S - JAl 229,210 23,810 205,400
201 er23 | 228,000 23,000 205,000
01 At2teltl 28,000 0 28,000
O8E= M& & A" 28,000
oLl S=2= NH 18,000,000 18,000
ozctel 22 1,000,000& 103 10,000
03 A2 I 200,000 23,000 177,000
OdXMEZNE 5,000,000& 42| 20,000
O&ALHS HIAEIE 10,000,000 %42 40,000
Oz J|8 (M=, 2, 224 &)
10,000,000 »82] 80,000
OJtE dat 8¢ 20,000, 000& x23] 40,000
OJ1&l &Al 10,000,000& »23] 20,000
202 04l 1,210 810 400
01 2LHoIH 1,210 810 400
o220l 1,210,000& 1,210
ANESH 265,810 91,940 173,870
201 er23| 264,000 90,000 174,000
01 AtR2t2|HI 24,000 0 24,000
O82= H& & A" 24,000
oelf E2= M 18,000,000& 18,000
o=zctel g2 1,000,000& 62 6,000
03 ALY 240,000 90,000 150,000
OAlZE8 3 2=+ 89 =3
45,000,000& »23] 90,000
Ould, 49 S AIE S8 3¢
45,000,000& *22 90,000
O&IotE Ofel 54
30,000,000& *23] 60,000
202 04l 810 810
01 =LHAHI 810 810
OZ2/04H| 810,000& 810
203 =2l 1,000 1,130 A130
03 A=A PR FZ| 1,000 1,130 A130




A 2 dY
ZH: AxES 2H0BAY
tel: 2ilsdE 2dst (SH9 H2)
SA - ZE . BR(8) - HRAR - BES of v e HIDE2
O=3iil= 243t dRFAH|
1,000,000 1,000
ZH0l=USAIE 339,760 318,240 21,520
201 er=23y| 38,240 17,430 20,810
01 AtR2t2|HI 18,240 17,430 810
Odgt==d| 18,240
OZHE AIRES 7
1,400,000 1,400
0%A= N4 7Y
1502 +1,0000H*2E5+23] 600
O8=22 ME(AUHI S)
1,000& 2,500 +43] 10,000
OuxJI=X=E & 7Y
3,000,000& 3,000
O=3tdE SIIFEI| Stz
270,000 * 122 3,240
03 A= I 20,000 0 20,000
O=st4a 3L H3
10,000, 000& x23] 20,000
202 04| 810 810
01 =LHO LI 810 810
O22l(t| 810,000 810
203 HR=H] 710 810 A100
EESSEEESIT 710 810 A100
OS&UH B4 J2EF
710,000& 710
301 EtE2 NS 300,000 300,000
14 0Bt 2a3 300,000 300,000
O=atda ZAt= 300,000,000 300,000
STl 29 119,450 105,150 14,300
Al 5,000
T 114,450
201 er23| 1,540 1,540
01 At2tltl 1,540 1,540
OHARE 42 M
60,0002 *9H 540
OsHl= 29 dHI57Y
1,000,000& 1,000
203 =48] 710 810 A100
03 A=A 2= 710 810 A100
OsHlzt 28 g2Fd
710,000 710
301 EtE N = 117,200 102,800 14,400
Al 5,000
- 112,200




A 23AdY
I Ax=2 2oH0lEAY
tel: 2ilsdE 2dst (SH9 H2)
SA - ZB . 9(B) - NIRAD - BaS ol b e HlmS2
2= - 2SRSEAZ 117,200 102,800 14,400
OolMEEE 2 47,000
ONFK &g
250,000 53] x1H * 123 15,000
OBER +g
100, 0002 *52] x 15+ 123 6,000
ONE =4 100,000 *52] x 15+ 12& 6,000
OFIIA=F3 12,000,000& 12,000
Al 5,000
- 7,000
OJ=lH=3l 5,000,000& 5,000
Otz &It S 3,000,000& 3,000
OdZLIAHAER 2Y 33,200
OXIZA =&
250,000 x53|*1H +8H 10,000
oy ¢ 100,000 *53| x2H+8H 8,000
OFIIHZF3 7,600,000& 7,600
OJ|18l =3l 7,600,000& 7,600
OadAr{EaH 29 37,000
OXIZ Xt =%
250,0002 *53| x 15+ 12& 15,000
OBt =Y
100,000 *52] x 15+ 12& 6,000
o =4 100,000& 53| x1H 12 6,000
OFI|H=3l 5,000,000& 5,000
OJ=H=3l 5,000,000& 5,000
SAEEL 29 36,942 36,654 288
201 B2 AL| 28,842 28,554 288
01 ArR222ltl 14,092 13,804 288
OLExEH(EEE S) 1,000,000& 1,000
OSHsAERL 2R3 32+
70,0003 *10H *33] 2,100
OSABI(AIRHE A DX 3Y)
9,000 x3Z 841« 123 2,592
O=AD| gXt= 200,000& =12 2,400
Od== 2| 50,0003+ 12& 600
Ozl 84 150,000« 12& 1,800
OccTv 24 150,000 12& 1,800
Os&I| | 150,000& * 12& 1,800
02 2224l 14,750 14,750 0
O2322(&)], 46l x 5)
800,000& 123 9,600
Og=x2 SH=ltl 150,000& 150
OSUE=A AMLEHIS I
5,000,000& 5,000
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A 2 dY
ZH: AxES 2H0BAY
tel: 2ilsdE 2dst (SH9 H2)
SA - ZE . BR(8) - HRAR - BES of v e HIDE2
202 04l 8,100 8,100
01 2LHoIH 8,100 8,100
o220l 900,000 900
OZtLH OBl (Al 2HS B ADTHI)
20,0002 «3E*102* 122 7,200
SAHEHA 243 A 100,000 90,000 10,000
Al 50,000
- 50,000
307 elztol & 100,000 90,000 10,000
Al 50,000
T 50,000
02 2B YA HE X 100,000 90,000 10,000
Osastu 24, SEHHE XNJE S
100,000,000 100,000
Al 50,000
- 50,000
DGt CHMEH ESAIE 28 791,397 981,537 190,140
S TG AlE ot 2te] 791,397 981,537 A190,140
ZAE JIs =l 2l 285,102 255,024 30,078
101 @124H| 128,599 112,153 16,446
M IIRINZENSES 128,599 112,153 16,446
OJIZtNelAb(23t2a 22X, 3HE
2E8X) 72,103
oJlzs 80,2403 x4H 123 39,479
OH=g(sa, IH&E=E)
15,843,200 15,844
ogEz2=g
10,0303 » 150%+22 x20 Al 2H+6 3,611
CEITE 10,0002 +4% 222 562 5,280
OMEIRE(I2=E)
7,888,700 7,889
OSSN A(SIRA0A) 121l 53,496
oJlzs
10,0302 462 x4A| 2H 142192 30,331
CIEEEERE
15,0453 6 x4 A 2Hx4 L <9F 12,999
O HHI 9,000& 6 *18L«9& 8,748
OABI2E (O 2RE3)
1,417,500& 1,418
o=l 3,000
OBUF AMoHYE 22
150,000 x10E +22] 3,000
201 er23| 155,693 142,061 13,632
01 At2tltl 55,187 49,555 5,632
Odgt=3=H| 17,070




SN 2stelEg

A JYHGHD CHNEH SJIAIE 2Y
Chel: 2siolEY AL oHE B2 (crol: m2)
SA - BB - S(3H) - MRAY - BES Ofl by e MimE=E)
oOUE EE=E UEE2 S5 HE
570,000 570
o4 P
5,000& *10H*6IH A+ 122 3,600
OXXZEM e ===
800,000 128 9,600
OAI|U2 AloXtE X CIAH
30,0002 15 x23| 900
O22= ME 10,0003 x 10 * 123 1,200
OHAIR EHXE AIEt
15,000& 20 & *43] 1,200
(@Or=2a0s] 3,888
03RS XE 3|
9,000 *12H 34! x 128 3,883
OADERU(HHCHHRA HIB S)
15,0002 »20H 300
ODMHot=NSE 2AMSE
400,000 x1H 23| 800
OKXZEelHI(seld, olss4l 5)
457 ,000& x 128 5,484
SA2eld(Feld HEs A2
1,334,750« 128 16,017
S0OIAH SX24=22]
1,938,000& *63| 11,628
02 S32ZH| 100,506 92,506 8,000
02222 ¢ MA 43,656
OSI=223H0l=3 2 HEHsl Al
5,000,000 5,000
Os=225M =3 H#HE S 2E=2HXE A
3| 1,000,000& 1,000
oswEoH ¥
4303 x60024 x 128 3,096
O2X 022 (&)
36&*20,00021*43| * 12& 34,560
OAIE &R XIB] 40,250
OS2 Al 2e] 6,000,000& 6,000
OSsMSH U AT S 7Y
8,000,000& 8,000
OXHI| M7 s 2L 13,000,000& 13,000
OZZHHSAZAZIH(EF S)
2,500,000 & *2CH 5,000
Ol =8 & XH(E2)
165,000& *5CH*103) 8,250
ORUse sA2e 10,000,000& 10,000
O2HEY S22l 6,600,000& 6,600
202 04| 810 810
01 2L Y| 810 810




2A:

SISl PSR

= Aot HNE 23N 2E
ool 2sloFY AL orE il (crol: m2)
SA - ZE . BR(8) - HRAR - BES of v e HIDE2
IEEERT 810,002 810
SAMAIE &8 2 2l 506,295 726,513 N220,218
201 eet23| 504,945 476,513 28,432
01 AtR2t2|HI 255,945 247,935 8,010
Odgt+=H| 254,685
oggas 70R+7, 741 M %43 2,168
Osd)| erd2e| A=
197,000 *30H* 123 7,092
OB FIIBA 248
130,000 *3CH 390
OxgAIE B & 2l 5,560
o FLUEZ 1,600,000 1,600
@ otMae| U2
330,000& * 122 3,960
(OZSPRFSEL N b
1,000,0002 122 12,000
ool BA 242
242 5003 x 128 2,910
OFM AT Wu™| X2 Y
13,4481 #5801+ 122 9,360
ORXIZ2AD| =25 35,0002 12 420
OFB0IFE A2F U (EEX )
665,000 * 122 7,980
OFAL =& 2l 1,916,600& «12& 23,000
OFA HAESH 16,317,083& «12& 183,806
O=2g+¢ 1,260
o=ty 2=l S48
70,0002 x6H +32] 1,260
2 35244l 249,000 228,578 20,422
O=32=  HAl 144,660
oNIIR3 10,000,000« 12& 120,000
Odotre=s 1,300,0002 122 15,600
OuERERY= 2,500,000& 2,500
OCIEUzld AIZR
35,0002 1001~ 12& 4,200
OZxZ=tHa=H Ity
2,000,000& 2,000
oORd V=g 15,0003 =20~ 123 360
OAlZ EHIs Xl 104,340
OHIAZEI| RFHI(2R)
1,832 +2302| E1 %12 422
OAIESHEY HAAE FIIEE
5,000,000 22 10,000
OF AL =Xl2eld] 10,000,000& 10,000
OFAN =el&E Ea 2,740 *1,094m 2,998




2A:

SISl PSR

= Aot HNE 23N 2E
ol 23loEY Al orE R (12l M2
SA - ZE . BR(8) - HRAR - BES of v e HIDE2
Obte M= 6,000 *350m’ 2,100
O=43d 34 5,000 x160= 23] 1,600
O3=xJ| M2 2,000,000 2,000
OXJ| ==&t FXI2e/H]
2,000,000 2,000
OHl&E &I A2l
1,000,000 1,000
OsdJ| =Al2ell
1,000,000 *3CH 3,000
OJIAEHl, A2 S FA2elH|
3,000,000& 3,000
O3x4 |XAl2cll 2,000,000& 2,000
OBYE MM 4R AS
5,000,000& 5,000
OO0r2l =Z AL (2xU)RX2el
9,000,000& 9,000
OFAL & &) dSued| AA
90,0002 *58[H 5,220
OFAL 24| S 0 2
11,05024%004.9m* 10,000
ORESAY & SAFHl =Xl2c
416,666 x 123 5,000
Ot & A2 |22l
5,000,000& 5,000
O&liitg 28+ 24
20,000,000 20,000
OZ3¢E SI1X3] 62| WA
2,500,000 =2CH 5,000
405 AHAHE S 1,350 1,350
01 AL =S F=HI 1,350 1,350
OFAL HIOIZ 7€ 150,000 *3H 450
OFEAL X+ 100,000 <9 900
HH =S 3 1,112,689 1,056,818 55,871
olE2gtl(2se1dd) 1,069,310 1,004,711 54,599
el 24| 1,069,310 1,004,711 54,599
101 @124H| 1,062,805 998,474 54,331
01 &= 808,398 339,322 469,076
OJlZ=s 277,810
O%HSHl 85,398
@5 S| 85,397,030& *1 85,398
oggty 171,346
06=(25) 4,231,900« 18~ 12& 50,783
@/=(103) 2,939, 1003 2H* 123 70,539
@8=(43) 2,084,300 2H 122 50,024
OXSIH&HI 7,790




A 23AdY
Zu: #S Y|
chel: olA2IH|(232 MY (G &
SIA - BE - O9I(B) - NIRAIY - AR Ol b e HIR=2
QH=H 85,397,030 *2.5% 2,135
@ 171,346,000 +3. 3% 5,655
oFz2Y 177,001,000& /12&+0.9 13,276
OJrEsY 2,880
O Xt 40,0003 =2F 123 960
ORLINE(RL) 20,0002 =3« 12& 720
ORI (HMAHA)
30,0003 x1H 123 360
OFLIIE(SMAA)
70,0002 x 18+ 12& 840
OFZ2+=2ort3 3,600
©54 0|et 30,0003 x 1+ 12& 360
©5~104 0|2+ 50,0003« 1H 123 600
©10~15 0|ot 60,0002 x2Z *12& 1,440
©204 0|4 100,000& *1H x 122 1,200
O&F2EF:IHZ 120
©20~25F 0|8t 10,000& x 1+ 123 120
(OF =B 0
SHISRRAY 50,0003 *1H 123 600
OUsERA=¢ 4,976
(OL=18 R 2,939, 1002 +4, 1%+ 12& 2,893
OS2 4,231,900 x 1Y %4 1%+ 12 2,083
OS82 600
(OPJE=pSIaE sy 240
(1= 20,0003 =1« 12& 240
QII=8EY Itz 360
@I At 30,0003 x1H 123 360
OfY2eLg
93,2603 x5 x2H x 12& 11,192
Ozxn2R+g 26,973
oAt DS
12,8442 +x35A| 2H+5H * 12E 26,973
OFAZAH| 140, 00081462+ 122 10,080
OFEFOHI
177,001,000& / 128 #60%*23] 17,701
OdItE 4| 5,861
od=EH
87,533, 00024/ 122 +86%+78%/302 * 102 1,63
e
177,001,000 /122 *86%/302 * 10 4,229
OEARE 2,400
O=RRER= 100,000 x2H 122 2,400
OX=EZH| 13,740
O53 250,000 x 15+ 123 3,000
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A St
N dH2EE
ool ol 2ol (250X CERED
RA - BH SRS - LAY - BAS ofl &t A HIDEZ
Ob6= 185,000& 1+ 12& 2,220
Or= 180,000 x2&* 122 4,320
O8= 175,000& x2&« 1238 4,200
OL eI 429,865
oJlEZ= 325,760
@2t M6= 60, 190,000& *1H €0,190
@2 EHADIIMT= 55,553,000 *3H 166,659
@A NIsS 44,252, 0003 «2H 88,504
[ _DSESY/ Falsll 315,353,000 +3. 3% 10,407
OZMUSAH| 140,000 x6 * 122 10,080
O IIE 4|
315,353,000 / 122 «86%+84%/302! » 10! 6,329
OJE=E 5,160
@< Xt 40,000 x3H~ 122 1,440
[ _EUDNIE] 30,0002~ 128 720
O=M Xt 70,000 =2~ 128 1,680
[ _OUPNIE] 110,000& x 12+ 123 1,320
O e =]
93,2603 *5L«4H+ 123 22,383
Ox==22=¢ 38,779
[ _J=WIDN[(or=
12,8443 x3BAI 21+ 123 5,3%
@IS
11,6022 *50A 2H3H * 123 20,884
02| Xs=
10,4162 *50AI 2H2H + 123 12,500
OLEEE= 422,471,000& %1.75% 7,34
OXZEXHI 13,980
@2J|H6= 250,000 x1& 128 3,000
O2J| NS 185,000&x3&~ 123 6,660
[ _J=PIDN[er= 180,000& =2« 12& 4,320
02 JIEtXE == 186,979 604,067 A417,088
OAIRHEER RIS ITA 186,979
oJ12= 150,123
@A EEHIIH(CHS)
51,420,000& *1H 51,420
O AIZHIE T DIHI(2HS)
46,953, 5003 x2& 93,907
[_DSESP/ Falsll 145,327,0002 3. 3% 4,7%
OxU2R=+Y 13,623
O AIZHEETIZDIHI(CHS)
11,602 x3bAI 2t 1H+ 123 4,873
O AIZHIE T IHI(2HS)
10,4162 +35A 2H2H + 123 8,750
(O ] 5,784




A 23AdY
M HEZAFH]
Cigl: ol2aH| (2510 XY)
SN - BB SR(BH) - KISAY - BAS A
@ AIZHEE DI HI(CHS)
165,040 x1H* 123 1,981
O AIZHEERADHI(2HS)
158,450 x2F 122 3,803
o UZAH| 5,040
@2 H =R
140,000 x3H » 123 5,040
OHIE 4| 2,990
O AIZHEEADIHI(CHS)
51,420,000 *102. 5%/ 12+84%*86%/ 30 /770
k1Y 1,088
@ AIZHEEATHI(2HS)
46,953, 5003 *102. 5%/ 12+84%+86%/30L! / 7+ 70Al
2% 1,932
OLNESEZ 183,763,000& *1.75% 3,216
OE< 480
@=L 20,0003 =2« 12& 480
O&ASEXH| 5,723
@ AIZHHEE D HI(CHS)
161,870 x1H 123 1,943
@ AIZHHERADHI(2HS)
157 5002 x2ZH 123 3,780
03 SRA(RINHS) 222+ 57,428
OJl2= 2,750,600 1« 12& 33,008
oJlg=< 2,280
(©OFSEL=Ealu]l 140,000 x1H* 128 1,680
ouggstl 50,0002 18~ 123 600
(OFSE=tal= 1,375,260 * 1223 2,751
O&EI=ZINZ 60,0003« 1« 128 720
OAIRte|=E 900,270 x 15+ 12& 10,804
OGE St 1,650,360& *1H*23] 3,301
Oz 70,0003 x 1« 12& 840
oo Xt 114,320 x1H 10 1,144
ORIg=< 40,0002 *1H* 123 480
O 175,000 x1H 123 2,100
N4 A=REIS 6,505
04 SR (RIIHY) 22X BEERES S 6,505
O4EE 6,505
O=0IAHLEE 170,310 x1F + 122 2,044
OLFIQLUYTH
22,0503 *1H 123 265
(OME=1E= 84,0703 =1+ 12& 1,009
o=ga3 216,2003x 19+ 123 2,5%
OHttNEH 49,202« 1H+ 128 592
Jl2dul(2s2dY) 53,379

_10_




A 2 dY
B sm 2oy
CHel: J|2dI(232A8Y) (SH &)
SA - ZE . BR(8) - HRAR - BES of v e HIDE2
Jl=3H] 53,379 52,107 1,272
201 er23 | 20,064 18,792 1,272
01 At2teltl 20,064 18,792 1,272
Odgt+==H| 3,6%
OJI2At=22ll
21,0002« 12F« 122 3,024
OtIBH=E 672
(SN 20,000 12 %122 240
(_INEEON 9,000& 42123 432
O=AD| gitz 240,000 «1CH*12E 2,880
O&MEH 225 3,120
ozZgH &Y FY
173,3003 =3CH+62 3,120
OSZAE Al
9,0003 x 122 +8A!x 12 10,368
202 04| 20,160 20,160
01 2L AL 20,160 20,160
O2U 048l 20,0003 12«72« 128 20,160
203 gF=4| 3,180 3,180
02 SRIHAA =TI 480 480
OFJIHAR=AHI(12F)
40,0003 12 480
M RFAZHLRFAI 2,700 2,700 0
O21=24(1580I3t) 250,000 * 122 *90% 2,700
204 AR A 9,975 9,975
01 MM S R3] 1,800 1,800
oz 180,000& ~1&~12& 1,800
2 SELR3H 8,175 8,175 0
otiel sl 50,0002 x11&~12& 6.600
Ot etSHI (AZHI R I
43,7502 x32* 122 1,575

_11_




